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QUESTION 1

You are working on an online transaction processing (OLTP) system. You are investigating the reasons for performance
degradation in the database. View the Exhibit named TOP5EVENTS and note the top five events. 

View the Exhibit named TOPSQL and note the problems related to these statements. 

View the Exhibit named INSTACT and note the table scans. 
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Which is the most appropriate solution? 

A. Create indexes on short tables. 

B. Use the CACHE hint to access long tables. 

C. Keep the long tables in the keep buffer pool. 

D. Keep the short tables in the keep buffer pool. 

E. Keep the short tables in the recycle buffer pool. 

Correct Answer: D 

 

 

QUESTION 2

View the Exhibit and examine the partial output from the following query in an online transaction processing (OLTP)
database: SQL>SELECT intsize_csec,metric_name,value, metric_unit FROM v$sysmetric; 

Which two conclusions can you draw about the database from these metrics? (Choose two.) 
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A. The buffer cache is inadequately sized for the workload. 

B. Very few executions of SQL statements resulted in reparsing. 

C. There were no multipass executions in the Program Global Area (PGA). 

D. The database spends more time in wait events in comparison to statement processing. 

Correct Answer: BD 

 

 

QUESTION 3

You work on an online transaction processing (OLTP) database in which the SALES table has 10,000 rows but only four
distinct products are sold. View the Exhibit named HIST to check data distribution in the table and the histograms on the
table. 
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View the Exhibit named QUERY-1 that shows details in the V$SQL view for the query executed on the SALES table
having product id 1. 

Further, you query the SALES table thrice more in the following order: 
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-

query rows having product ID 4 

-

query rows having product ID 2 

-

query rows having product ID 4 

View the Exhibit named QUERY-n to see the details about these queries. 

What do you infer from this? 

A. The second plan was created because the first plan was aged out. 

B. The CURSOR_SHARING parameter value was changed to EXACT after the second query was executed. 

C. The third plan was created because the first plan was aged out and the second plan had different selectivity. 

D. The first two executions used the same plan because at parse time the optimizer did not consider selectivity as the
cursor was not yet considered bind-aware. 

Correct Answer: D 

 

QUESTION 4

You are working in an online transaction processing (OLTP) environment. You received many complaints from users
about degraded performance. Your senior 

DBA asked you to execute the following command to improve the performance: 

SQL> ALTER TABLE subscribe_log STORAGE(BUFFER_POOL recycle); You checked the data in the
SUBSCRIBE_LOG table and found that it is a large table 

having one million rows. Which factor could be a reason for this recommendation? 

A. The keep pool is not configured. 

B. The automatic Program Global Area (PGA) is not configured. 
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C. The CURSOR_SPACE_FOR_TIME initialization parameter is set to FALSE. 

D. The most of the rows in SUBSCRIBE_LOG table are accessed once a week. 

E. All the queries on the SUBSCRIBE_LOG table are rewritten using a materialized view. 

Correct Answer: D 

 

QUESTION 5

Your organization has purchased licenses for the Diagnostic Pack along with the Oracle Database 11g software.The
application workload on your database is known to be stable between 10:00 PM and midnight every night, but the
performance on a particular Thursday was poor between 10:00 PM and 11:00 PM. Which tool would you consider using
first to diagnose the cause of the performance degradation? 

A. Database Replay 

B. STATSPACK Report 

C. AWR Compare Report 

D. SQL Performance Analyzer 

Correct Answer: C 
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